
LEGEND CLUB SERIES 
CHAISE LOUNGE CHAIR 
ASSEMBLY INSTRUCTIONS



CHAIR FRAME ASSEMBLY
X1

ABC-A0007

CHAIR BACK ASSEMBLY
X1

ABC-A0001

LEGEND CLUB SERIES 
CHAISE LOUNGE CHAIR 
ASSEMBLY INSTRUCTIONS

COMPONENTS 
REQUIRED FOR 
ASSEMBLY 1/3 



3/8" FLAT WASHER
X4 3/8" X 3.5" HEX HEAD BOLT

X2
3/8" HEX HEAD NUT

X2

REQUIRED TOOLS
-9/16" SOCKET

-SCREW GUN/DRILL

LEGEND CLUB SERIES 
CHAISE LOUNGE CHAIR 
ASSEMBLY INSTRUCTIONS

HARDWARE &
TOOLS REQUIRED 
FOR ASSEMBLY 2/3 



3/8" X 3.5" 
HEX HEAD BOLT

3/8" HEX NUT

3/8" FLAT WASHER

LEGEND CLUB SERIES 
CHAISE LOUNGE CHAIR 
ASSEMBLY INSTRUCTIONS

ATTACH CHAIR BACK 
ASSEMBLY TO CHAIR 
FRAME ASSEMBLY

3/3 



 30.13 

 38.90 

 21.76 

 64.98 

 40.13 

 34.43 

 10.85 

 64.98 

 25.13 

CONSTRUCTION MATERIALS:
Recycled Plastic
HARDWARE:
Stainless Steel

ALL DIMENSIONS ARE SHOWN IN INCHESSPECIFICATIONS
BC1210


	COVER
	Drawing View17

	PG 1
	Drawing View18
	Drawing View19

	PG 2
	Drawing View21
	Drawing View24
	Drawing View27

	PG 3
	Drawing View22
	Detail View  (1 : 6)

	PAGE 1(2)
	Drawing View30
	Drawing View31
	Drawing View32
	Drawing View33


